Xiaoxu Guo Contest 3
China ICPC Winter Training Camp, Febraury 1, 2015

Problem F. Independent set

Input file: stdin

Output file: stdout

Time limit: 1 second
Memory limit: 512 megabytes

bobo has a binary sequence ajas . ..a,. And he wants to count the number of sequences as x1, xo, . ..

satisfying the following conditions modulo (10° + 7).
1. z1,29,...,2p € N, 21+ 204+ -+ 2,, =M
2. Foralll1 <i<mn,a; -x;=0;
3. Forall 2 <i <mn, x5 -2 =0.

Input
The first line contains 2 integers n,m (1 < n < 5000000,1 < m < 10).

The second line contains n integers ajas . ..a, (0 < a; < 1).

Output

A single number denotes the number of sequence.

Sample input and output

y T

stdin stdout
2 2 2
00
10 3 26
0101010101
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